






. WkWO)  +wo _ 0 j  = m + 1 m  + 2 .

axj axj- ’
I .., ” (6.9)

6.1 n”aGtM Lagrange

F-ll~9yl z = f(XJ  = f(x,,x,  ,..., X”)

hi%hi% g;(X)  = g;(x,,x2  ,..., x,)  = bi

i = 1,2,...,m

ni-dXkpi6mu^ai~lros  Lagrange ~r%&lnnlGJlGi%JtU  Lagrange (Lagrangian

multipliers) I,, i = I,2  ,...,  m ZhahaYdl~2~n  m mm5

df(X)+ t A,d(b,-g,(XJ] =  0
i=l

(6.10)

aF a f(x)-cp-
8% 8%

i I,  ad; = 0,j  = I,2  ,...,  n
i=l

(6.12)
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F(&d,W)  = 10x,-x:+64x,-8x;+4OO+rl,(47-2x,-x2-x,)+ c n,,(xj-wf)
j=l

aF-=
ax,

lo-2x,-21,+I,  =  0 . . . . . . . . (1)

aF~ =  64-16x2-A,+A~  =  0
ax,

. . . . . . . . (2)

aF =- - . . . . . . . . (3)
ax,

-1,+A,  =  0

aF~ =  4 7 - 2 x , - x , - x ,  =  0
8.4,

. (4)

aF-=
aA

x , - w :  =  0

aF _

aA
- Xl--w:  = 0

aF__  = x,-w: = 0
ak

aF-=
aw,

-2A*w,  =  0

. . (5)

. . . . . . . . (6)

. . . . . . . . (7)5

. . . . . . . . (8)

aF~ = -2A,w,  = 0
ah

. . . . .

aF~ = -2/14w3=o
aw3

. . . . . . . . (10)
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dl$ilqa  ( - Z )  =  3w,+12w,+w,+4w4+12w5+4w6-36

l@UijCBilC~

3w,+6w,+4w,+8wd  -920

2w,+4wzi  w,+2w,  -3 20

WI+  w2 -WS 20

- w,- w2  +2w,  20

w3+ w4  - WC5  20

-w>-  w,  +2wg  2 0

wj(j  =  1,2,3,4,5,6)  =  0 , 1

1. +lL3UtiUwj  =  0  qnjrsld

i 1 2 3 4 5 6

Q,’ 1  -9 -3 0 0 0 0

I I 2 3 4 5 6

x Qi(O 8 4 8 3 *I3 13
i

LztYlfl  w,  =  I  Idi  ( 2 )  kK??dWM~n”  ai,+aiz+ais  > -Q/ (~hfhdEl  i  =  4 )

L’blM  w, = w2  = w5  =  1 ~ilPr~l~au~~ilerrlJPdiicil(-z)  =  - 9

2 .  4+  Q{  =  Q;+a;,  < 0  lJlJh  i  Q; 2 0  L%ltl  w3  \¶.k  (3)+(4)

3.4+,3+  ~IQ;<o,Q;~oL~IG~,  = w,  = we  = I!(.-z)  = - 2 7

‘ 4 .  4+,3-  Qi’6  O,Q/‘> O&nw,~d~(5)

5 .  4+,3-,6+  iQ;<  O,Q:  3 O~d;w, :w, = w5  =  w6  i(-Z)  >  - 2 7

iqmi1 W) = WA  = W6  = 1, w, = w2  =  w5  =  0  L?hMhaall~~fil  (-Z)

‘-356 OFi



x 10 1 2 3 4 5 6 7 8 9 10 I1 12

fl(x) 1 9 9 9 16 16 16 25 25 25 36 36 36 36

d,(x)  1 0 0 0 1, 1 1 2 2 2 3 3 3 3

f,(x) = d1gxpl [f,(12-4x,)+(x,+4)2]

0 < x2 < /x/4]

x = 12
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$-).1~-hZ~+l.2+j  =0 , j=1,2
I I I

Lrl7=1CiWUnl4w7E1I~o16191  Kuhn-Tucker 6.d

2 -18x,2-2h, -2 h, + h, = 0

-1 - 3x,'+2x2- h,+  h, + h, = 0

6 -2x, -x2  -x3 = 0

3-2x,+ x* -x4 = 0

X&T x2& I x3x,,  x4x2 = 0

X,'X2.X3.Xq,h,,hZ'~'h4 2 0

.......... (1)

.......... (2)

.......... (3)

.......... (4)

.......... (5)

.......... (6)
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,j=1,2

‘
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P a

Yl 8

X2

i

1

X3 29

X4 91

2 3 7 22- -_
5 5 3 r

-, -5

2 2 7 22J
5 ,5

-1
5

-f

2 1 1 15 lo lo 0 1
1 0 10

I 1 1 1
0 1

3 -ii -iii -lo iii
22 1 1 I

l
s 1 0 01 0 1 0 lo.,
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x,=20,x,=9,x,=1,x,=3

It&i  zmax  = 4(20)  + IO@-202+  4(20)(g)  -5(9*)  = 85

.

OR 233 365



f:(x) = 25 ? d,(x) = 1 . f,(5-1)  = f&4)  %il d,(4) = 4

n$l&1 rrl7~m"il6lalJ;~~m  &I

x, = 1 , x* = 4 %%I zadnu,  = 25

f,(x)  I 1 a 27 64

d,(x) 1 1 2 3 4

hlflu  2 f*(X)  = Fh#J$~{  f,(4/x,) + 4$*) , x = 4 , %=1.2,3,4

d,(x)  = xz*

X X2
1 2 3 4 f,(x)  d,(x)

4 68 24 37 65 68 1

f*(x) = 68 1 d,(x) = 1 . f,(4/1)  = f,(4) %+I d,(4) = 4

aplwl  FhnQ,lJGiqn I%

x, = 4 , x2 = 1 vh=il  Zsaqa  = 68.

6. 9\r%dnuh  Kuhn-Tucker ~~nl5wl~lnntr~~~m~a~~~ul

u1Fi14hqn  z = x,2  + x2' - 4x, + 4

f~fli%fliol"ln'n

-x, + x2 I 2

x,2 +,x2  = 1

x1 ,'xz:  > 0
J
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